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] 100kN/m%B %% 1.00{0.00 ~ 209 132.32| 3m%x A% ol ~ = = —| 100kN/m%# % % 1.00] 10.95 ~ 21.26 132.32| 3m&EZ D =1 ~ = = =
zns 1.00{2.09 ~ 987 100.00f #h A4t |0.00 ~ 9.87| 255 13.35 zTh s 1.00] 5.00 ~ 1095 100.00| #h kst | 500 ~ 21.26] 255 13.35
9 100kN/ Mm% %% 1.00{0.00 ~ 236 136.90| 3Sm%x#E %% ol ~ = = —| 100kN/m%# % % 1.00] 10.60 ~ 21.26 136.90| 3m& XS =1 ~ = = =
zns 1.00{2.36 ~ 10.15 100.00f Zh A4t | 0.00 ~ 10.15| 2.64 13.84 zTh s 1.00] 5.00 ~ 10.60 100.00| #h st | 500 ~ 21.26| 2.64 13.84
3 100kN/m%B %% 1.00{0.00 ~ 295 146.86| 3m%#EZ%|0.00 ~ 0.04] 3.02 15.84| 100kN/m%E#BZ % 1.00] 10.74 ~ 31.26 146.86| 3m##E % %] 30.00 ~ 31.26( 3.02 15.84
zns 1.00{ 295 ~ 10.74 100.00f Zh A4t | 0.04 ~ 10.74] 3.00 15.73 zTh s 1.00] 5.00 ~ 10.74 100.00f #n st | 500 ~ 30.00f 3.00 15.73
A 100kN/m%B %% 1.00{0.00 ~ 298 147.28| 3m%x A S ol ~ = = —| 100kN/m%# % % 1.00] 10.67 ~ 30.00 147.28| 3m&EEZD =1 ~ = = =
zHns 1.00{ 298 ~ 10.76 100.00f Zh A4t | 0.00 ~ 10.76] 2.28 11.93 zTh s 1.00] 5.00 ~ 10.67 100.00| =h kst | 500 ~ 30.00f 228 11.93
e 100kN/ M%EBZ % 1.00/0.00 ~ 2.27 135.38| 3Im%x x5 -~ = - —| 100kN/mM%# % % 1.00( 10.69 ~ 21.25 135.38| 3m&#E A5 -~ = = =
zns 1.00{2.27 ~ 10.06 100.00f Zh A4t | 0.00 ~ 10.06| 2.22 11.66 zTh s 1.00] 5.00 ~ 10.69 100.00f #h st | 500 ~ 21.25| 222 11.66
6 100kN/ M%EBZ % 1.00/0.00 ~ 3.28 152.50| 3Sm%x A5 -~ = - —| 100kN/m%# % % 1.00( 10.69 ~ 41.11 152.50| 3m&HEZ 5 -~ = = =
zHns 1.00{3.28 ~ 11.06 100.00f Zh A4t | 0.00 ~ 11.06] 2.31 12.10 zTh s 1.00] 5.00 ~ 10.69 100.00f #h st | 500 ~ 30.00f 3.00 15.73
; 100kN/ M%EBZ % 1.00/0.00 ~ 3.19 150.98| 3Im%x#EZ % -~ = - —| 100kN/mM%# % % 1.00( 10.75 ~ 40.00 150.98| 3m&HEZ 5 -~ = = =
zHns 1.00{3.19 ~ 10.97 100.00f Zh A4t | 0.00 ~ 10.97| 2.29 12.03 zTh s 1.00] 5.00 ~ 10.75 100.00f #h st | 500 ~ 30.00f 3.00 15.73
g 100kN/ M%EBZ % 1.00/0.00 ~ 223 134.72| 3m%x A S -~ = - —| 100kN/m%# % % 1.00( 12.05 ~ 36.51 134.72| 3m& B A5 -~ = = =
zns 1.00{2.23 ~ 10.02 100.00f Zh A4t | 0.00 ~ 10.02] 2.11 11.08 zTh s 1.00] 5.00 ~ 12.05 100.00| #h st | 500 ~ 3651 2.11 11.08
9 100kN/ M%EBZ % 1.00/ 0.00 ~ 2.41 137.75| 3m%x A% -~ = - —| 100kN/mM%# % % 1.00( 11.54 ~ 32.60 137.75| 3m& B A5 -~ = = =
zHns 1.00{2.41 ~ 10.20 100.00f #h A4t | 0.00 ~ 10.20| 2.15 11.27 zTh s 1.00] 5.00 ~ 1154 100.00| #h kst | 500 ~ 32.60| 2.15 11.27
10 100kN/m%B %% 1.00]0.00 ~ 251 139.40| 3Sm%x#EZ 5 ol ~ = = —| 100kN/mM%#2 % % 1.00] 11.39 ~ 32.81 139.40| 3m#EZ D =1 ~ = = =
zHns 1.00{ 251 ~ 10.30 100.00f Zh A4t | 0.00 ~ 10.30] 2.90 15.21 zTh s 1.00) 5.00 ~ 11.39 100.00f #h st | 500 ~ 3281 290 15.21
11 100kN/m%B %% 1.00{0.00 ~ 224 134.89| 3m%#EZ % ol ~ = = —| 100kN/m%#2 % % 1.00] 11.82 ~ 32.00 134.89| 3m&EZ D =1 ~ = = =
zHns 1.00{2.24 ~ 10.03 100.00f #h A4+ | 0.00 ~ 10.03] 2.85 14.96 zTh s 1.00) 5.00 ~ 11.82 100.00| #h kst | 500 ~ 32.00| 285 14.96
12 100kN/m%B %% 1.00{0.00 ~ 1.86 128.70| 3Sm%x#E %% ol ~ = = —| 100kN/m%# % % 1.00] 12.61 ~ 31.28 128.70| 3m& A5 =1 ~ = = =
zHns 1.00{1.86 ~ 9.65 100.00f #h A4t | 0.00 ~ 9.65| 2.79 14.65 zTh s 1.00] 5.00 ~ 1261 100.00| #h kst | 500 ~ 31.28] 2.79 14.65
13 100kN/m%B %% 1.00{0.00 ~ 1.88 128.97| 3m%x A% ol ~ = = —| 100kN/m%# % % 1.00] 1259 ~ 31.54 128.97| 3m&EZD =1 ~ = = =
zns 1.00{1.88 ~ 9.67 100.00f #h A4t |0.00 ~ 9.67| 2.79 14.66 zTh s 1.00] 5.00 ~ 1259 100.00| #h kst | 500 ~ 3154 279 14.66
” 100kN/M%E#B 2% -l -~ = -|3mzERB| - ~ = - —| 100kN/mM%EBZ 5 = -~ = -|3mZEEZD -~ = = =
zns 1.00{0.00 ~ 7.25 9236 Zhi4t |0.00 ~ 7.25| 1.99 10.45 zTh s 1.00] 5.00 ~ 10.00 9236 #h st | 500 ~ 10.00( 1.99 10.45
. 100kN/M%E#B 2% -l -~ = -|3mzERB| - ~ = - —| 100kN/mM%E#BZ5 = -~ = -|3mZEEZD -~ = = =
Zh s 1.00/{0.00 ~ 7.33 93.45| Zhus 1 0.00 ~ 7.33] 201 10.57 Zh s 1.00] 5.00 ~ 10.00 93.45| #hst | 5.00 ~ 10.00| 2.01 10.57
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0 100kN/ M%E#B 2% -l -~ = -|3mzERL| - ~ = - —| 100kN/mM%EBZ5 = -~ = -|3mZEEZD -~ = = =
zns 1.00{0.00 ~ 746 9531 £#h4t |0.00 ~ 7.46| 207 10.84 zTh s 1.00] 5.00 ~ 10.00 95.31| #h st | 500 ~ 10.00( 2.07 10.84
100kN/M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEBAD ~
Zh st ~ Zh st ~ Zh st ~ Zh st ~
100kN/M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEEBAS ~
Zh st ~ Zh st ~ Zh st ~ Zh st ~
100kN/M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEEBAS ~
Zh st ~ Zh st ~ Zh st ~ Zh st ~
100kN/M%E#B A% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEEBAS ~
Zh st ~ Zh st ~ Zh st ~ Zh st ~
100kN/M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEBAS ~
Zh st ~ Zh st ~ Zh st ~ Zh st ~
100kN/M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEBAD ~
Zh st ~ Zh st ~ Zh st ~ Zh st ~
100kN/M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEBAS ~
Zh st ~ Zh st ~ Zh st ~ Zh st ~
100kN/M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEEBAS ~
Zh st ~ Zh st ~ Zh st ~ Zh st ~
100kN/M%E#B A% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEBAS ~
Zh st ~ Zh st ~ Zh st ~ Zh st ~
100kN/M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEBAS ~
Zh st ~ Zh st ~ Zh st ~ Zh st ~
100kN/ M%E#B A% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEBAS ~
Zh st ~ Zh st ~ Zh st ~ Zh st ~
100kN/ M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEEBAD ~
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100kN/M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEBAS ~
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Zh st ~ Zh st ~ Zh st ~ Zh st ~
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